
CELLULAR RESPIRATION REVIEW

NAME ______________________________
1. _C_ __ __ __ __ __   _A_ __ __ __ is a 6 carbon molecule that is produced first when acetyl-CoA 
    joins with a 4 carbon molecule to enter the Krebs cycle.

2. _G_ __ __ __ __ __ __ __ __ __ is the process of splitting a glucose molecule into 2 pyruvic acid 
     molecules.

3. The molecule used by cells to store and transfer energy is _A_ __ __.

4. Glycolysis happens outside the mitochondria in the _C_ __ __ __ __ __ __ __ __ of the cell.

5. _C_ __ __ __ __ __ __ __   _R_ __ __ __ __ __ __ __ __ __ __ happens when oxygen is present and includes glycolysis, Krebs cycle, and Electron transport.

6. _C_ __ __ __ __ __ __ __ is a natural substance found in muscles that regenerates ATP for 
   extended energy which is used as a dietary supplement to increase muscle strength and performance.

7. This describes a process that requires oxygen = _A_ __ __ __ __ __ __

8. _F_ __ __ __ __ is the high energy electron carrier that produces fewer ATP’s than NADH because    
    its electrons join the Electron Transport Chain farther down the chain.   
10. Atmospheric gas required for aerobic respiration = _O_ __ __ __ __ __.

12. This describes a process that does NOT require oxygen; it means “without air”


= _A_ __ __ __ __ __ __ __ __

13. Type of fermentation used by human muscles in low oxygen conditions and microorganisms to make 
     yogurt, cheese, pickles, sauerkraut and kimchi. = _L_ __ __ __ __ __  _A_ __ __ __
14. As electrons pass down the electron transport chain during cellular respiration, H+ ions are pumped 
         into the _I_ __ __ __ __ __ __ __ __ __ __ __ __  _S_ __ __ __ __.

15. The _K_ __ __ __ __ cycle breaks down pyruvic acid into carbon dioxide and produces NADH,   
     FADH2, and ATP.
16. The NADH and FADH2 produced during the Krebs cycle pass their electrons down the

      _E_ __ __ __ __ __ __ __   _T_ __ __ __ __ __ __ __ __ chain to produce ATP.

17. The passage of H+ ions through _A_ __ __   _S_ __ __ __ __ __ __ __ causes it to spin and 
     produce ATP.

18. This 3 carbon molecule is produced during glycolysis when glucose splits in half 


= _P_ __ __ __ __ __ __   _A_ __ __ __; also called _P_ __ __ __ __ __ __ __
19. Cell organelle that acts as the cell’s power plant to burn glucose and store energy as ATP.

= _M_ __ __ __ __ __ __ __ __ __ __ __

20. If oxygen is NOT present, glycolysis is followed by _F_ __ __ __ __ __ __ __ __ __ __ __.

21. Type of fermentation used to make bread dough rise and produce beer and wine.


 = _A_ __ __ __ __ __ __ __ __

22. This molecule has the formula C6H12O6 and is split in half during glycolysis = _G_ __ __ __ __ __ __

23. The carbon atoms in pyruvic acid end up as _C_ __ __ gas in the atmosphere following the Krebs 
          cycle.
24. The folded inner membranes inside a mitochondrion are called _C_ __ __ __ __ __ __.

25. During cellular respiration, ATP synthase and ETC are found in the _C_ __ __ __ __ __ __ of the 
       mitochondria.
26. _A_ __ __ __ __ __  _C_ __ __ forms when Coenzyme A attaches to two carbons from pyruvic acid.

27. _G_ __ __ __ __ __ __ __ is the storage form of glucose used by animal cells which can be broken 
     down for energy when glucose is used up.

28. The area inside the cristae where the Krebs cycle happens is the _M_ __ __ __ __ __.
29. _F_ __ __ __ __ and _N_ __ __ __ are the two electron carriers used during cellular respiration.

30. During cellular respiration, _O_ __ __ __ __ __ accepts electrons and H+ ions at the end of the ETC     
     to form a water molecule.


31. _A_ __ __ __ __ __ __ __ __ __ ,like green plants, provide glucose and oxygen used by
      _H_ __ __ __ __ __ __ __ __ __ __ __ for cellular respiration.

32. When glucose is used up humans can change to burning _G_ __ __ __ __ __ __ __ OR _F_ __ __.
33. In eukaryotes, fermentation happens in the _C_ __ __ __ __ __ __ __ __ outside the mitochondria.
34. Prokaryotes can still do cellular respiration even though they don’t have mitochondria because they have the ETC proteins and ATP synthase in their _P_ __ __ __ __ __  _M_ __ __ __ __ __ __ __.
35. Adding a phosphate group to ADP to make ATP _S_ __ __ __ __ __ energy and removing the phosphate group _R_ __ __ __ __ __ __ __ energy.
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